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Tasks and competencies in the teaching =507
,2017-2 x> Xy and learning of algebra
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Part3

In this part, we explore the function that represents the variation of the shaded area, as

shown in the figure below.
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6, Write an algebraic expression for a function hix) that represents the area of the shaded
trapezoid far increasing values of x.

Define the domain and the range of the area function h(x), and sketch its graph.
7. Dylan claimed that the area function hix) is decreasing, Do you agree? Explain.

8. Find the value of x for which the ares of the shaded inner trapezoid i half the area of
that of the large trangle.

9. Show in a geometrical and an algebraic way that fix) = gix) + hix].
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Products of Two Binomials

Step 1

Prodict: How many addends will appear in the expansion of this product:
@+ B -lc+d

Expand the product and check your prediction.

Step 2
Consider the following template for this product:
oom-Oao)

Replace each J with one of the variables a, b, ¢, or d, and replace each O with the sign of
elther plus or minus, so that the simplified expansion will have the required number of terms.

Wariables or operations can be repeated,
+ The simplified expansion has four terms.
= The simplified expansion has three terms.
+ The simplified expansion has two terms.
= The simplified expansion has cne term.

+ The simplified expansion will cancel out to zero.
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